EroN” AMED)

HOLD DOWN TOGGLE CLAMPS 6800 No.E-9476

BTV E E R 26800

EZED 6800:55400  6800N1:SUS304
EETS 6800: $E4E
WD = x24T

© © oo o NI IR B BE T

6800(NI)-0A

==ol LTV ey /
( o
(g W A
@y D D
_ I @y/ ’fJL _
R1 R2[] q}J < j §[ EJ
T & ® & 0 -
t i 2 X HEAE
o E F ‘ J F T ¢
B O 6800(NI)-1.3.4.6  6800(NI)-2.5 BEAE
BR~TER wEEOH
e A B C D E F G H I  J K L M N O:P:iP i Q
6800(NI)-0 | 4 31 135 45 16 10 85175 8 43 - .23 - - .90 95 - -3~ 4
6800(ND)-1 | 5 39:160 45 19 14 20510 { 55 - 24 - i - 120! 95° - 4~ 3
6800(ND-2 | 6 54 200 55 25 20 240250 12 60 125 30 27 - 125105 60" -3~ 6 P
6800(NI)-3 8  80:20.0: 7.1: 36 265 i36.0:18 : 75 - 132 - - 116.0 105" 60°:0~12
6800-4 10 1100 320 85: 61 30 450 20 130 - 45 - - 220 105" 60° -8~21 T
6800-5 14 142 450 85 88 40 450560 29 95 315 50 47 5 31.0 115° 60° -4~34 LT
6800-6 14 165 50.0 13 90 : 55 85.0 30 245 - 70 - - 475 1407 60° -7~53 e
AR ETEL., (0. 155N EARTH
.*ﬂ*ﬁ PR A Fh R
Tee we o %gfjm - L P SRXEH EEkg e
992303 6800-0 0.5 0.7 M 4x0.7 X 25 49x 81 0.06 o
992304 6800-1 0.6 1.1 M 5x0.8 x 30 = 60x105 o011 T
992305 6800-2 0.8 12 M 6x1.0 X 35 78x129 0.18 Fa. ME
992306 6800-3 1.2 25 M 8X1.25X 45  112x186 = 041 oo
992307 6800-4 1.7 3.0 M 8x1.25X 65 140x220 0.63 $HERFE O 44
992308 6800-5 3.0 5.0 M12X1.75X 80  195X282 ©  1.48  ceeeiiiiiiiiiiin
992309 6800-6 3.4 55 M12x1.75%110 230%335 2.20 T
992310 6800NI-0 0.6 0.7 M 4x0.7 X 25 = 49x 81 . 006 ...
992311 6800NI-1 0.8 1.1 M 5x0.8 X 30 60X 98 011 .
992312 6800NI-2 1.2 1.2 M 6x1.0 X 35 = 78x129 = 0.8
992313 6800NI-3 1.7 25 M 8x1.25X 45 112x186 034

AIEER THCADHIE. HITEFEIMA.



[Z1be i

3

p

o o oo o N

KT RFHMY

A MER

(ERONS AMEQD

HOLD DOWN TOGGLE CLAMPS 6800

A3 U E E R 26800

No.E-9476

$5400
REIZET

k.

itz

ORBTEEREFMHALERIEMLEN, APFILIRERE. R

BR~T%

e A B  C D  E F G | H K M e
68005-2 6 54 0 20 55 : 25 0 20 @ 25 -3~ 6. 12 27 13 105 . 60°
68005-3 8 ¢ 80 20 71 43 27 i 36 0~12 18 32 16 105° @ 60°
68005-4 10 100 32 85 . 61 30 45 -8~21 20 13.0 @ 45 105° = 60°

* F AR R AL S O B 1L,
W

iTas me o *g?’kN o RERE REXKE  2xxem E8kg
992314 68005-2 1.0 1.2 M6X1.0 X35 78%129 0.26
992315 6800S-3 1.4 25 . MB8Xx1.25%x45 112x186 0.47
992316 68005-4 2.0 3.0 M8X1.25X65 140x220 0.69

http://www.nabeya.co.jp



